
SAP ABAP table BAPI_ALM_ORDER_LISTOPER_RESULT {ALM Orders: Operation List from Selection}

BAPI_ALM_ORDER_LISTOPER_RESULT

ORDERID [CHAR (12)]

PLANT [CHAR (4)]

STANDARD_TEXT_KEY [CHAR (7)]

CURRENCY [CUKY (5)]

EQUIPMENT [CHAR (18)]

LOCATION [CHAR (10)]

LOC_PLANT [CHAR (4)]

CLIENT [CLNT (3)]

ORDER_TYPE [CHAR (4)]

LINEAR_UNIT [UNIT (3)]

FIRST_OFFSET_TYPE_CODE [CHAR (2)]

FIRST_OFFSET_UNIT [UNIT (3)]

SECOND_OFFSET_TYPE_CODE [CHAR (2)]

SECOND_OFFSET_UNIT [UNIT (3)]

MARKER_DISTANCE_UNIT [UNIT (3)]

AUFK

MANDT [CLNT (3)]

AUFNR [CHAR (12)]

 BAPI_ALM_ORDER_LISTOPER_RESULT-ORDERID = AUFK-AUFNR 

0..N

0..N

EAML_D_OFFSET_TC

MANDT [CLNT (3)]

OFFSET_TC [CHAR (2)]

 BAPI_ALM_ORDER_LISTOPER_RESULT-FIRST_OFFSET_TYPE_CODE = EAML_D_OFFSET_TC-OFFSET_TC 

0..N

0..N

 BAPI_ALM_ORDER_LISTOPER_RESULT-SECOND_OFFSET_TYPE_CODE = EAML_D_OFFSET_TC-OFFSET_TC 0..N

0..N

EQUI

MANDT [CLNT (3)]

EQUNR [CHAR (18)]

 BAPI_ALM_ORDER_LISTOPER_RESULT-EQUIPMENT = EQUI-EQUNR 
0..N

0..N T000

MANDT [CLNT (3)]

 BAPI_ALM_ORDER_LISTOPER_RESULT-CLIENT = T000-MANDT 

0..N

0..N T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 BAPI_ALM_ORDER_LISTOPER_RESULT-LOC_PLANT = T001W-WERKS 

0..N0..N  BAPI_ALM_ORDER_LISTOPER_RESULT-PLANT = T001W-WERKS 
0..N

0..N

T003O

CLIENT [CLNT (3)]

AUART [CHAR (4)]

 BAPI_ALM_ORDER_LISTOPER_RESULT-ORDER_TYPE = T003O-AUART 

0..N

0..N

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 BAPI_ALM_ORDER_LISTOPER_RESULT-FIRST_OFFSET_UNIT = T006-MSEHI 

0..N

0..N

 BAPI_ALM_ORDER_LISTOPER_RESULT-LINEAR_UNIT = T006-MSEHI 

0..N

0..N

 BAPI_ALM_ORDER_LISTOPER_RESULT-MARKER_DISTANCE_UNIT = T006-MSEHI 
0..N

0..N

 BAPI_ALM_ORDER_LISTOPER_RESULT-SECOND_OFFSET_UNIT = T006-MSEHI 0..N0..N

T435

MANDT [CLNT (3)]

VLSCH [CHAR (7)]

 BAPI_ALM_ORDER_LISTOPER_RESULT-STANDARD_TEXT_KEY = T435-VLSCH 

0..N

0..N

T499S

MANDT [CLNT (3)]

WERKS [CHAR (4)]

STAND [CHAR (10)]

 BAPI_ALM_ORDER_LISTOPER_RESULT-LOCATION = T499S-STAND 

0..N

0..N

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 BAPI_ALM_ORDER_LISTOPER_RESULT-CURRENCY = TCURC-WAERS 

0..N

0..N


